Calculation in Excel:

1.Place =(98-(B3-$B%3)/B3*100)+(SAsEE-A3)
2.Place =(98-(Bl-5B33)/B3*100)+(sAsBE-A4)

98 = Basic value

Norweger points calculation

A B C D E
1
2 Place Time/Total: Norweger
3 1 1:24:06 126,00
4 2| [50N8 118,17
5 3 1:30:29 116,95
6 4 1:31:25 115,00
7 5 1:32:27 112,97
8 6 1:33:16 111,17
9 7 1:34:48 108,71
10 8 1:35:01 107,51
11 9 1:35:10 106,37
12 10 1:35:13 105,32
13 11 1:35:57 103,65
14 12 1:36:21 102,29
15 13 1:37:06 100,61
16 14 1:37:08 99,58
17 15 1:39:13 96,76
18 16 1:39:47 95,28
19 17 1:41:52 92,56
20 18 1:43:30 90,26
21 19 1:43:58 88,89
22 20 1:44:53 87,18
23 21 1:46:04 85,29
24 22 1:46:18 84,12
25 23 1:48:08 81,77
26 24 1:50:54 78,83
27 25 2:00:34 71,75
28 26 2:00:45 70,65
29 27 2:01:38 69,14
30 28 2:02:12 67,82
31 B8 20223 66,72




The individual cells are variable and must be sent to the Norwegian points code
be adjusted. You always need the cell "place / rank" and the cell "end time /
total" for the calculation.

If your list has this content:

A B C D E F G H |
1 Place BiB Name Club Timel Time2 Speed Total Norweger
2| 1 22 | Mustermann | Muster | 0:00:00 | 0:00:00 | 23 | 1:24:06 | 126,00
3| 2 56 Muster Verein | 0:00:00 | 0:00:00 | 22 | [HSOMB | 118,17
31 . 111 Musterfrau Test 0:00:00 | 0:00:00 15 66,72

Should the code look like this:

98 = Basic value

1.Place =(98-(H2-$Hs2)/H2*100)+(SAsBE-A2)
2.Place =(98-(H8-sHs2)/H2*100)+(SBsBE-A3)
29.Place  =(98-(::1-SH$2)/H2*100)+(SEs8H-ASE)




